
 



 

 

xm = S / A;   A = beff * hf
I + bw * (h - hf

I); 

    S = beff * hf
I *0,5 * hf

I + bw * (h - hf
I) * (0,5 * h + 0,5 * hf

I). 

I = beff * hf
I 3 /12 + beff * hf

I *( xm - 0,5 * hf
I)2 + bw * (h - hf

I)3 /12 + bw * (h - hf
I)* [(h - xm- 

–  0,5*(h - hf
I)]2. 



 

     Wr = I / (h - xm). 

 
Для квадратного уравнения вида   a*x2 + b*x + c = 0, положительный корень 
х определится по формуле     x = [- b + (b2 – 4*a*c)1/2] / (2*a). 

 



 

 

 
(1/r)cs1 = εcs * αe * As * (d – xm) / I. 

 
Ir = beff * hf

I 3 /12 + beff * hf
I *( x - 0,5 * hf

I)2 + bw * (x - hf
I)3 /12 + bw * (x - hf

I)*[ 0,5*(x - 

hf
I)] 2 + αe * As * (d – x)2  . 

 

(1/r)cs2= εcs * αe * As * (d – x) / Ir . 



 
(1/r)cs = ζ * (1/r)cs2  + (1- ζ) * (1/r)cs1 . 

 
(1/r)sum = (1/r) + (1/r)cs. 

 
a = k * L2 * (1/r)sum. 
 
 

 


